P-TI (1+1+1) H/20 (N)
2020
SANSKRIT (Honours)

Paper Code : III-A & B
[New Syllabus]

Important Instructions
for Multiple Choice Question (MCQ)

® Write Subject Name and Code, Registration number, Session and Roll
number in the space provided on the Answer Script.

Example : Such as for Paper III-A (MCQ) and III-B (Descriptive).
Subject Code : Il |A|& |B

Subject Name :

® Candidates are required to attempt all questions (MCQ). Below each
question, four alternatives are given [i.e. (A), (B), (C), (D)]. Only one
of these alternatives is “CORRECT” answer. The candidate has to write
the Correct Alternative [i.e. (A)/(B)/(C)/(D)] against each Question No.
in the Answer Script.

Example — If alternative A of 1 is correct, then write :
1. — A

® There is no negative marking for wrong answer.
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Paper Code : III-A
Full Marks : 20 Time : Thirty Minutes
Choose the correct answer.

Each question carries 1 mark.

1.What was the name of W in the drama ‘37# ATeTApocTelH * ?
(A) T8
(B) YFRT
(C) IMTela
(D) AL
2. In which act of the drama ’H@WW’ is ‘Eﬁmr_cf’ described ?
(A)04
(B) 05
(C) 06
(D) 07
3.“qﬁ?ﬁa§ﬁsﬁ' ga ufass FoIET A”- Who was the speaker ?
(A) 0T
(B) A
(C) geFe
(D) faearfa=
4. In Which Season the drama WW was acted first ?

(A) Winter
(B)Summer
(C) Spring

(D) Monsoon

Page : 3 of 11



5. ”3-1T8D:|?=|L?'ITS"’1" o godcd: o goded:”- Who said this ?
(A) SIRead
(B) I
(C) AR
(D) I@TH

6. In Which act of the drama ’d-lfa\-ldla-l?l?rddd-l\ * does the character of ga9fEeT appear ?
(A} 07
(B) 05
(C)o4
(D) 03
7. Who is FAGHeT ?
(A) Son of hUd
(B) Son of faearfa=
(C) Son of Ftasr
(D) Son of Qw
8. Who is called as ?;Tvl'cﬂ?l' ?
(A) farearfaT
(B) g
(c) Itteer

(D) Ug
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9. How many acts are there in the play ‘TacIdrddea#d ‘ ?
(A) 05
(B) 06
(€)o7
(D) 08
10. Who is called as deciiRToTehedT ?
(A) FEH DT
(B) ardacdr
(C) UgATadT

(D) e TateRT

11.“HeRITAeNeaeEal A FAgal FFar-Who said this ?
(A) STEAERT
(B )JFT=HrT
(C) arddcdr
(D) TRTERIIOT

12. What is the name of ﬁ?{\qiﬁ in the play ‘FatAdqrAdeaH ‘ ?

(D) AT
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13. Who is the owner of “ETSadT 0T« ?
(A) TT=T
(B) aTaET
(C) TeFTacT
(D) T eRIIOT
14, “$TTEAETd W f§ STUCAEIUT-Who said this ?
(A) TRTERTIOT
(8) Prog e
(C) EFHYH
(D) SEHTRY
15. Who disguised as Jlafedehr ?
(A) TR
GREED
(C) T
(D) aTHaET
16. ‘G:W FATHEY T&IUH' - Who was the speaker ?
() g
(B) T
(C) arEeGaT

(D) TITERTIOT

Page : 6 of 11



17. What is the other name of TEITGAT ?
(A) 3fFeTT
(B) 3@
(C) 9drenT
(D) A=Y
18. How many types of 3TRAT have been admitted by faegerar 2

(A) 07
(B) 08
(C) 04

(D) 05
19. Who is the author of TfgcdeUoT
(A) HTHE
(B) ATHT
(C) gusr
(OACEELIES

20. How many types of &9 have been admitted by faea=rer ?
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P-TI (1+1+1) H/20 (N)
2020

SANSKRIT (Honours)

Paper Code : III-B
[New Syllabus]
Full Marks : 80 Time : Three Hours Thirty Minutes
The figures in the margin indicate full marks.
Unit -1
Write any one broad question in Sanskrit of unit | or unit Il or unit IlI.

1. Answer any one broad question of the following : 10x1=10

(a) What is the curse of QHT\EIT ? Discuss the dramatic significance of the curse incorporated
in the fourth Act of the ‘JfATeTRIgecTer ‘|

(b} Discuss the dramatic significance of the introduction of the character W@ﬂﬁ ‘

as an invisible form in the Act VI of The ‘3T IFeeH ‘|

(c) Describe the scene of departure of Q@w_cIFIT from the hermitage of sage hUqd|
2. Explain in Sanskrit (any one) : 6x1=6
(a) YEMegerdTTAE IY: ITHAATA: Tl STy |
Glehdl: Tef IOIETTeTeIdT: FoTercier: ||
(b) TFITIOT e FLRTRT fARIFT AT
TIeg Hald TG Sed:|
dedaar TR AeAAaegd
HIGFEITOT Selleadlgarta ||
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3. Amplify in Sanskrit any one of the following : 6x1=6

(a) Tl & AEEUEY TEIY  THIOHec RO |

(b) fohfRE & FHERTOT Huse aAThci=Aa |
4. Translate into English or your own Vernacular (any one) : 4x1=4

(a) FSTAF GEH FATT FEAT ASTATAH
Jedt faftsw #afd Faa-u=Aa aql
TP AgTH TG TG AT
d A Y Fhud &uEly J ard ysErdl |
(b) ARTaTedl  THAIHAT
qutte afcy o AREReYaH|
ARSI @l o § AU a1
FUT YAT: JUAH, FAAT |
5. Rendering from Prakrta to Sanskrit ( any one) : 4x1=4
(a) THIARCREUedagdellie Jatie 437 # HEREHE3 | G U GEdia |
(b)TETfd Ruer fJFer s i REEEER|
TP faREeFd T Herafel|
Unit - II
6. Answer any one of the following : 10x1=10

(a) Discuss the importance of the role played by J1FFERIIUT in the development of the drame
TACAATHACAH |

(b) Discuss the significance of the title ‘TICAdIHAIGAH’ from the standpoint of dramatic art.
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7. Explain in Sanskrit any one of the following : 6x1=6

(a) FTCPHVTSANA: TRITATAT
TPRISTFARG IS HEIISTF: ||

(b) F[OTTT a7 faRMeTeTT FehRTOT T fo¥eaer: |
i GoroT Aok FIAaRE] gole: ||

8. Translate any one into English or Vernacular : 4x1=4

(a) P AFAT s I
A F ghgar: Toeet:|
RT: FAT TSCUHTART
reFaT IR eI A A ||

b5 R TS
Tl AR GEATcaH|
aTecuAr I el |

9. Derive any two of the following words :

(i) TEHATIT

2x2=4

(ii) Ffasa
(iii) F&gfer
(iv) gfaeRfar
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Unit=1ll
10. Answer any one of the following questions : 10x1=10

(a) What is 37af9eYdes ? Define and illustrate after TG any three varieties of 372fT8TUe|

(b) What is Tf=% 'in a drama? Define two of its varieties with suitable illustration from your text.
11. Write short notes in Sanskrit any two of the following 3x2=6

(i) AT

(ii) Ieh 0T

(i) 3raET

(iv) fa=g
Unit-1V
12. Translate into Sanskrit (any two) : 5x2=10

{a) One day Narendranath went Dakshineswar and said Sri Ramkrishna “ Have you seen God ?”
Forthwith came the reply from Sri Ramkrishna “Yes | have seen God.”

{b) Man is the maker of his own fortune. We can not proper in life if we are afraid of labour.
Some people think that success in depends on luck. But this view is not true.

(c) Trees give shade for the benefit of others, while they themselves bear intense heat of the sun.
Such is the nature of the good.

{d) Work carefully, so that there may not be any error . A little done well is better than much done
badly.
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